
Hoover High School Math Tournament 

Geometry Exam 


1. 	 The diagonals of a rhombus have lengths of 18 and 24. Find the area of a circle inscribed in this rhombus. 

169 1296 289 
A. 54n 	 B. -n C. -n D. -n E. NOTA 

9 	 25 16 


2. 	 Find the shortest distande fiom the origin to the line segment containing (2,0) and (0,3). 

E. NOTA 

3. 	 Consider three different spheres in space. Let A be the intersection of all three spheres. Which of the following are possibilities 
for the number of points in A ? I. 3 11.0 111.2 

A. I and I1 B. I, 11, and III C. I and I11 D. I1 and I11 E. NOTA 

4. 	 Determine the volume of the given figure. 

E. NOTA 

-
5. 	 The following circle has radius 5 ,and BD ,that is intercepted by 

5n
LBAD ,has length-. Find mLBAD . 

3 

D. 35" 	 E. NOTA 

6. 	 A certain building is in the shape of a hemisphere of radius 20ft., with the circular base of radius 20ft. being the floor. A 24ft. 
board is leaning against the building so that the base of the board is on the ground. Assume the center of the base of the board is 
located 5ft. fiom the edge of the building. Find the distance fiom the center of the base of the board to the point where the board 
is touching the building. 

A. 945ft. B. 15ft. 	 C. 12ft. D. 1045ft. E. NOTA 



7. Find the volume of a regular triangular pyramid if all edges are 3 centimeters long. 

A. 2J? cm3 345 
B. - cltl C. - em3 D. - cm3 E. NOTA 

945 2 4 5  
2 4 3 .  

D 

3 
8. In the following figure assume a + b = 70 and AB = - . 

2 
~ i n d  BC. 

B C 

E. NOTA 

9. A grapefruit in the shape of a sphere has a diameter of 4in with a peel that is 0.25in. thick. Once the grapefruit is peeled, it has 
12 congruent wedges. Find the volume of each wedge. 

lo. Find the distance fiorn the origin to the plane through (1, 0, 0) , (0,2, 0) , and (0, 0,3) . 

E. NOTA 

E. NOTA 

11. The sum of the volumes of two spheres is 1 0 5 ~ .  Their areas have the ratio of 4 : 9 . Find the volume of the smaller sphere. 

A. 12n B. 20n C. 24z D. 32n E. NOTA 

12. In the following figure AB = 3, 
BC=4, AC=2,  B D = l , a n d  

C E = 2 .  
Find CF. 

E. NOTA 








